CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

BEFORE YOU BEGIN TOOLS AND MATERIALS:

Before installing, read entire shower system installa-

tioninstructions. Observe all local building and safety
codes. @

Unpack and inspect the product for any shipping Phillips
damages. If you find damages, do not install. Contact Safety Glasses Drill Screwdriver
Customer Service at 1-866-855-2284. If you need
assistance or have guestions while installing your

shower, contact Customer Service. A® e &0 ,| ‘l

We recommend consulting a professional if you are Level Hacksaw Straight Edge
unfamiliar with installing bathroom fixtures and
plumbing. Signature Hardware accepts no liability for

any damage to the floor, walls, plumbing or for p
personal injury during installation.

Plumbers Tape  Pencil

GETTING STARTED

*fnsure that you have gathered all the required
materials that are needed for the installation.

¢ Before you begin, the main water supply to your
home should be shut off.

REVISED 02/07/2019

1 customer service: 1.866.855.2284
signaturehardware.com

@ SIGNATURE HARDWARE



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

INSTALLATION

1.Installhot and cold 1/2" female IPS water suppliesin
the wall with a 6" distance between them, approxi-
mately 41" from the floor.

Hot Water

2. Remove the M4 screws, M6 screws, S-connector
set and leveling plate from the valve body.

M6 Screw
| / S-Connector Set

Leveling
Plate M4 Screw

3. Measure the thread depth of the pipe joints with

your ruler. Your fittings should be flush with the finished
wall.

4. Wrap the S-connectors with plumber's tape.

@ SIGNATURE HARDWARE

customer service: 1.866.855.2284
signaturehardware.com



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

5. Put the S-connectors through the leveling plate
and screw into the pipe inlet. Tighten the screw with a
12mm hex wrench.

12mm Hex Wrench

6. Using the leveling plate and a level, adjust the
S-connector set as necessary for proper alignment

7. After adjustments have been made, tighten the
screw joints with your 12 mm hex wrench.

8. Take out the lower shower riser and remove the M5
set screws.

g B

M5 Set Screw

Lower Shower Riser

-

@ SIGNATURE HARDWARE

customer service: 1.866.855.2284
signaturehardware.com



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

9. Take out upper shower riser and remove the M5 set

screw.

‘Wr Shower Riser

M5 Set Screw

L

L

10. Remove the caps on both sides of the valve body.
Connect the valve body with the upper and lower
risers, tighten the set screws to secure.

(&4

11. Attach the valve body to the S-connector set.
Mark the location of the mounting base holes.

Mounting Base

Mounting Base

12. Pull out the valve body and unthread the M6 cone
screws to remove the mounting bases.

B

%?\

L

M6 Cone Screw

M6 Cone Screw

el

S

@ SIGNATURE HARDWARE

customer service: 1.866.855.2284
signaturehardware.com



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

13. Hold the mounting base in the location marked in
the previous steps. Mark the location of the two
slotted holes in the base.

14. Drillmounting holes in the location marked in the
previous step.

Mounting Hole

15. Insert anchors into the mounting holes.

16. Drive screws into the anchors to attach the
mounting base to the wall. Repeat these steps for the
remaining mounting base.

@ SIGNATURE HARDWARE

customer service: 1.866.855.2284
signaturehardware.com



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

17. Attach the faucet body to the S-connector set. 19. Unthread the M5 screw to remove the mounting
Attach the shower riser with mounting bases. Secure plate from the hand shower caddy.

the valve body with the M6 screws, and the mounting
base with the M6 cone screws.

L

Q*VAH\

@7’/5 &
18. Attach the rainfall shower head to the upper riser.
Tighten the M4 set screw to secure.

20. Mark the locations of the mounting holes in the
mounting plate.

M4 Set Screw

Rainfall Shower Head

customer service: 1.866.855.2284
signaturehardware.com

@ SIGNATURE HARDWARE



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

21. Drill pilot holes in the locations marked in the
previous step.

@K

N

22. Insert the wall anchors, and attach the mounting
plate to the wall by with self-tapping screws. Install the
hand shower caddy. Tighten the M5 screw to secure.

23. Remove the sheath from the 1/2" shower hose
connector. Attach the hand shower, connector and

hose.

Hand Shower

1/2" Connector

Sheath

B

24. Turn on the water supply, check to make sure that
all connections are tight, and that the hot and cold
supplies are working correctly. Turn the shower on and
allow the water to flow for approximately 60 seconds.
Divert the water to the hand shower hose and allow
the water to flow for an additional 60 seconds.

@ SIGNATURE HARDWARE

customer service: 1.866.855.2284
signaturehardware.com



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

DIVERTER KNOB FUNCTIONS:

Note: You cannot use all three functions simultane-
ously. Additionally, the shower head and the hand OFF
spray cannot be used simultaneously.

1. Turn the top diverter knob clockwise to run water
from the hand spray.

Shower Head
2. Turn the top diverter knob counter-clockwise to run

water from the shower head.

# Hand Spray

3. Turn the bottom diverter knob clockwise to run

water from the body sprays. Turn the bottom diverter
knob counter-clockwise in the off position to stop O
running the water from the body sprays.

OFF

4. Turn the top diverter knob clockwise and the
bottom diverter knob clockwise to run water from the
hand spray and the body sprays simultaneously.

Body Spray - q Body Spray

OFF ON
5.Turn the top diverter knob counter-clockwise and —
the bottom diverter knob clockwise to run water from
the shower head and the body sprays simultaneously.
8 customer service: 1.866.855.2284

@ SIGNATURE HARDWARE

signaturehardware.com



CORREIA SHOWER PANEL

INSTALLATION INSTRUCTIONS
SKU: 931424

CLEANING:

If the water flow is weaker than normal or the
temperature controlisn't functioning properly, the
filtering net of thermostatic cartridge may be
blocked. Remove the water inlet valve and clean as
directed in the following steps.

1. Remove the cap with a sharp-ended tool. Remove 3. Reassemble the thermostatic cartridge, the locking
the screw, thermostatic knob, stop collar, and locking nut and stop collar.
nut. Take out thermostatic cartridge.

.
5

¢ m§

4. Replace the thermostatic knob. Tighten the screw
and insert the cap.

2. Clean the thermostatic cartridge filtering net with a
brush and vinegar.

9 customer service: 1.866.855.2284
signaturehardware.com

@ SIGNATURE HARDWARE



